o
I

H

Mmoo FE

S5 FEEMME (FAD RS EKEEYIREHRE

St 5 B R

s %  TE#

5 B ZEEEXRE
=1 B EEREE
BoMa RERHE
HEES 18-10-23-007



WIER SHSEEMMME (FEA) L0 SHKEEMRERE

% g - AKTiE Bifr B 2 B i & #B w E
EEUER 2,837,784
HRE 2,837,784 x 75.7% — 5,986 2,142,216
BIBELE 2,837,784 + 2,142,216 4,980, 000
B IR 1,279,400 + 12,794 1,292,194
EEAGE 1,279, 400
EEEE 12,794
T DAt 1,279,400 x 53.85% ( 35% = (1 — 35%) ) 688, 956
EHRIE 1,292,194 + 688,956 1,981,150
—REBRES 1,981,150 x 53.85% (35% + (1 — 35%) ) — 7,999 1,058, 850
ABREE 1,981,150 + 1,058, 850 3,040, 000
HE XML 4,980,000 + 3,040, 000 8, 020, 000
HBETEALE 8,020,000 x 10.00% 802, 000
ABERE 8,020,000 + 802,000 8,822, 000




HENRE STIS 4 R BPIHE () LIS S K £ MBS

% L] Hg - BIRHE AL % B LA i ® # m =
EZAEE 4,129,978
REAMAETRS 4,129,978
REAYMAETES 4,129,978
KELEMERE 3,260, 777
REE 226, 543
1 REER 1.00 226, 543 226, 543
=
Wi &R e 1,742, 040
2 BEBERE 36. 00 48, 390 1,742,040
Hh
R4 - 1RET 954, 450
3 FERDEE 1.00 503, 081 503, 081
=
4 HROBRE 1.00 451, 369 451, 369
=
B 337, 744
5 MEBMER 1.00 337, 744 337, 744
=
EEEE 869, 201
T2H 833, 201
6 TEHEEM 1.00 833, 201 833, 201
=
[EES 36, 000
ES T 1.00 36, 000 36, 000
=
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SHSEEEMMER (FEAD L0 SSKEEYRERE

&5 1
2 . AEER 1LY
£ 7 R - KT By B = B Of € W E B &
BlEFEHED
A 2.00 51, 000. 00 102, 000
B S HER
A 2.00 44,000. 00 88, 000
B = H AR
A 1.00 34, 300. 00 34, 300
AR =L NOY
% 1.00 224, 300. 00 2,243
= 5 1E%HeH - 1.00K 226, 543. 00 226, 543
&5 :2
2% . BRERAE e (6ih)
£ 7 R - KT By B = B Of € W E B =
TEE S4 kY 2L
B 1.00 3,252.00 3,252/2.00H / 8H
SRAE M FRP D 70PS#E! 3.0t
B 1.00 71, 597.00 71,597 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BKE(FA1—) 10mk 578
A 1.00 50, 500. 00 50, 500
BKTHEE (A4 /1\—) 10mR 5
A 1.00 50, 500. 00 50, 500
rtEyg
A 1.00 30, 500. 00 30, 500
AR L NOY
% 2.00 284, 649. 00 5,692
= 5 1YE%HESN : 6. 00K 48, 390. 00 290, 341
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SHSEEEMMER (FEAD L0 SSKEEYRERE

&S :3
2 EROEHE £ (1)
%4 7 R - AR R BAf = B i & # # B &
FAEHED GRED
A 1.00 62, 200. 00 62, 200
HEn (A)
A 2.00 55, 200. 00 110, 400
HEm (B)
A 3.00 45, 300. 00 135, 900
Hifrg
A 6.00 31, 600. 00 189, 600
EXRARE 2RD%
% 1.00 498, 100. 00 4,981
& it E%82H : 1.00=% 503, 081. 00 503, 081
EE 4
2 RO % (=)
% 7 R - AR R BAf = B i & # # B =
FAEHED GRED
A 1.00 62, 200. 00 62, 200
HEn (A)
A 2.00 55, 200. 00 110, 400
HEn (B)
A 3.00 45, 300. 00 135, 900
A (C)
A 3.00 35, 600. 00 106, 800
Hifr g
A 1.00 31, 600. 00 31, 600
EXRARE 2RD%
% 1.00 446, 900. 00 4, 469
& it E%82H : 1.00=% 451, 369. 00 451, 369
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SHSEEEMMER (FEAD L0 SSKEEYRERE

55
B MESER x (1)
£ 7 R - BIRTE BARL #H = B Of € W E B &
FEHED (55
A 1.00 62, 200. 00 62, 200
HEn (A)
A 1.00 55, 200. 00 55, 200
e (B)
A 2.00 45, 300. 00 90, 600
Hftt 8
A 4.00 31, 600. 00 126, 400
EHARE L NOY
% 1.00 334, 400. 00 3, 344
= it 1YE%HeH - 1.00K 337, 744. 00 337, 744
&5 :6
B REERM =1
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
TEEHM FRP D 180PS#Y
B 6. 00 138, 176. 00 829, 056 6. 00H / 8H
AR =L NOY
% 0.50 829, 056. 00 4,145
= 5 1E%HeH - 1.00K 833, 201. 00 833, 201
&5 .17
B EBBRR =1
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
XBRRRE
= 1.00 36, 000. 00 36, 000
= it 1YE%HeH - 1.00K 36, 000. 00 36, 000




B LR AMBRNRE A5 E AP (B LB SKE S B EEE

=R £ [ R - BIkTiE B B B B ® BilRAEAR " &
R0402 RIEXE L6 H))
A 1.00 62, 200. 00 62,200, S#5F3A1H
R0403 3 BER (A)
A 2.00 55, 200. 00 110,400 S#M5E3IA/1H
R0404 3 BER (B)
A 3.00 45, 300. 00 135,900 S#MSEIA1H
R0406 3 BKiE
A 6. 00 31, 600. 00 189,600 S#MSEIA/1H
3 e
498, 100 (A)
3 K AHE BIE (B) 1.00 =
HEAfE (C) 1.00 & 498, 100 (A/Cx*B)
R0402 4 E{EHER (B&EH
A 1.00 62, 200. 00 62,200 ©#5F3A1H
R0403 4 BEf (A)
A 2.00 55, 200. 00 110,400 S#M5E3IA/1H
R0404 4 BEf (B)
A 3.00 45, 300. 00 135,900 S#MSE3IA/1H
R0405 4 BEf (C)
A 3.00 35, 600. 00 106,800 S#M5E3IA1H
R0406 4 Hiffg
A 1.00 31, 600. 00 31,600 #5F3A/1H
4 gt
446, 900 (A)
4 Kt AHE BIE (B) 1.00 =
HENfE (C) 1.00 & 446, 900 (A/Cx*B)
R0402 5 TR (B&EH
A 1.00 62, 200. 00 62,200 S#5F3A1H
R0403 5 HEf (A)
A 1.00 55, 200. 00 55,200, ©#5F3A1H
R0404 5 HEf (B)
A 2.00 45, 300. 00 90,600 «#5F3A1H
R0406 5 &8
" A 4.00 31, 600. 00 126,400 SMSEIA1H
5 IhE
334, 400 (A)
5 & AHE BIE (B) 1.00 =
HENfE (C) 1.00 & 334, 400 (A/Cx*B)
RETEBAGE AR
1,279, 400




